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Q100
Q1 Look at this series: 8, 22, 8, 28, 8, ... What number should come next?
U YTAT DI W 8, 22, 8, 28, 8, ... AT B T FaR AT AMRY?
A 9.0/9.0
B 34.0/34.0
c 32.0/32.0
D 29.0/29.0
RESPONSE B - CORRECT Answer Key : B
Q2 Statement: Should all refugees, who make unauthorized entry into a country, be forced to go back to
their homeland? Arguments: |.Yes. They make their colonies and occupy a lot of land. Il.No. They leave
their homes because of hunger or some terror and on human grounds, should not be forced to go back.
Y gt e, S ot Sw H sAfidd waw Bd §, I SO ATy 7 9oy 9 & o
TR far SR e ad: 1. 8F1 3 st wicfal s § R w8 9 ol R pem AR Ad S 1.
21 9 1 1 BT STl 3 PRUT 30 TR 1 BT odl & IR A YR TR, I8 109 9H & oy
TOIgR 6! fodT oI Fifeu |
A Both | and Il are strong / | IR 11 g Iﬁl@ﬁ%
B
Only argument | is strong / Fqel db IW%




C Only argument Il is strc;ng,*'aﬁ?l'?ﬁ%”w%
D
Either | or Il is strong / AT | 4T 1| FTad &
RESPONSE C - CORRECT Answer Key : C
Q3 Salary of a person is increased by 20%, then it is decreased by 20%. Change in his salary is ?
forelt cafdy & T o 20% B i €16 €, PR 3 20% HH B fea1 a1 8 | 3% da- 1 uad 82
A 4% decreased / 4% BT &1 T
B 8% decreased / 8% ®H &I T
C 4% increased / 4% ¥g1
D neither decrease nor increase I?Hﬁﬁﬂhqﬁq@
RESPONSE A - CORRECT Answer Key : A
Q4 Ten years ago, Ajay was 1/3 as old as Vijay. If Ajay is 18 years old now, how old is Vijay now ?
& IE Ugd, 3 faery ¥ 1/3 987 Y11 1S 3519 3@ 18 9 $1 8, A1 fasra &1 3y 3rq fabat &2
A
36 years / 36 H[cl
B
34 years / 34 HIc]
C 32 years / 32 HIeT
D
38 years / 38 9l
RESPONSE B - CORRECT Answer Key : B




Q5

Choose the correct water-image of the Figure (X} from amongst the four alternatives 1, 2, 3 and 4 given.

Question Image

X
Water Images

1 2 3 4

la) 1
b} 2
i 3
id) 4

feu ara = fime 1, 2, 3 9 e 74 Fm o) @1 @t siesf =)

Question Image

X
Water Images

1 2 3 4

{a) 1
(b) 2
le) 3
(d) 4
A a/a
B d/d
C
clc
D b/b
RESPONSE B-WRONG Answer Key : C
Q6 The sum of 5x?, -7x2, 13x?, 11x* and -5x% is

5x2, -7x2, 13x, 1% 3R -5x2 & TN

A 17x2 [ 17x2




2 2%
C 6x? [ Bx?
D 9x? f 9
RESPONSE A - CORRECT Answer Key : A
Q7 The greatest number of four digits which when divided by 12, 16 and 24 leave remainders 2, 6 and 14
respectively is ?
R 3] B 98 Tt g Ge ¢ ford 12, 16 3R 24  fauiford 37 W HA: 2, 6 3 14 YT SEaT &2
A 9970 / 9970
B 9974 / 9974
C 9807 / 9807
D
9998/ 9998
RESPONSE B - CORRECT Answer Key : B
Q8 What will be the investment in order to obtain an income of 550 from 10% stock at Rs. 967
96 TUT H 10% b T 550 1 3T UTtd H3 & ferg Fyde  ghme
A 6280.0 / 6280
B
5280.0 / 5280
C 8280.0 /8280
D 7280.0 / 7280
RESPONSE B - CORRECT Answer Key : B




Q9

If tan 6 + cot 8 = 2, then what is the value of tan'® 8 + cot'® 67

(a) 1
(b) 3
© 2

(d) None of the above

& tan a+cot-:a=2g,iﬁlanloﬂa+mt100@'&ﬂ HI+ ERII%?
(a) 1

(b) 3

(0 2

(@) F1H A pig el

b/b

B d/d

C Gle

D ala

RESPONSE C - CORRECT Answer Key : C
Q10 A and B stared a boutique investing amounts of Rs. 35000 and Rs. 56000 respectively. If A's share in the

profit earned by them need is Rs. 45000, then what is the total profit earned ?
A 31 B Y HH: 35000 BYY 3R 56000 TUY o1 Ueh L1 321 AfR &7 Y1 fpa | o 7 gy
3ifofa Ay ¥ A &1 g1 45000 TUA R, Y SifSid o oy T 22

A
Rs. 117000 / % | 117000

B
Rs. 72000 / ¥ 72000

C

Rs. 127000 /%1 127000




Rs. 81000 /%1 81000

RESPONSE A - CORRECT Answer Key : A
Q11
The population of a village decreases at the rate of 20% per annum. If its population 2 years ago was
10,000, the present population is ?
T T B SMTETE! ufd a 20% B &3 @ UT 9N ¢ | afe THe! et 2 Widt ugd 10,000 U, A goEE
3TaTel 87
A 4600 / 4600
B 6000 / 6000
C 6400 / 6400
D 7600 / 7600
RESPONSE C - CORRECT Answer Key : C
Q12 What angle is formed between the minute hand and seconds’ hand of the clock if they are 25 minutes
apart?
e TSt 1 e 31 T8 9fR Tohs B TF 25 e 1 gl W g Ot I &1 fe 1 w101 g1 82
A
110°/110°
B 135°/135°
C 120°/120°
D 150°/150°
RESPONSE D - CORRECT Answer Key : D




Q13

In a simultaneous throw of two dice, what is the probability of getting a total of 7?7

1

6
(al)

1
by 4

2
icl 3

3
(@ 4

&1 Ul @1 U WY bl UR Gl 7 A1 1 Wikl o1 82

1
6
(a)
1
(b} 4
2
(e) 3
3
@ *
A cfc
B b/b
C a/a
D d/d
RESPONSE C - CORRECT Answer Key : C
Q14 Atankis 25 m long, 12 m wide and 6 m deep. The cost of plastering its walls and bottom at 75 paise per
sq. m, is:
T & 25 Hiex A, 12 Hiex 911 3R 6 HIex 1671 § 1 391 S1aRT SR it W 75 9 i a7f wiiex it
T Y TR HA B AN &:
A

Rs. 568 /¥ 568




Rs. 558 /%1558

¢ Rs. 458 /¥ 1 458
D Rs. 456 / %1 456
RESPONSE D - WRONG Answer Key : B
Q15 What is the sum of all odd numbers up to 240?

240 T Gt o emait &1 3 R 82

A 13400 / 13400

B 11400 / 11400

C
14400 / 14400

D
12400/ 12400

RESPONSE C - CORRECT Answer Key : C
Q 16 A person covers the different distances by train, bus, and car in the ratio of 4: 3: 2. The ratio of the fair is

1: 2: 4 per km. The total expenditure as a fair is Rs 720. Find the total expenditure as fair on the train.
T fEd ¢, 39 AR FREN A g8 31 4: 3. 2 & 3rJura & 70 S 8. W $1 30 1: 2: 4 Ul
ol 81 U 70 & w9 A e T 720 B9 § 1 ¢ R 3fod U Y Hd o0y F1d Siford |

A
140/ 140

B
170/ 170

C

160/ 160




D 150/ 150
RESPONSE C - CORRECT Answer Key : C
Q17 Statement: Researchers are feeling agitated as libraries are not equipped to provide the right
information to the right users at the right time in the required format. Even the users are riot aware
about the various services available for them. Courses of Action: .All the information available to the
libraries should be computerised to provide faster services to the users. |l.Library staff should be trained
in computer operations .
FU: T & FEYH R I8 & i TRadbTer HTa%ad TRy B W8] §970 TR et SuaTahdisf
B T THSHRI UM B & fo Gaierd 78 & | U6t ao & Iuanmesdi +f 37 forg Suas faftm
Faraft & TR T AFRES ¢ | FTIATET: | STIRTEAN Sl Bl oid FaTd YEH A & fore gxsredt J
Fuas T STHER &) Hreded o o ARy 1. agsst Wit ® $oge wara J uiifda
faran s =g e
A Only | follows / T | HTIRV HRT &
B
Both | and Il follow / | 3R 1| &1 3T UTE ¥
C Only Il follows / e || T 3TERU HIATE
D
Either | or Il follows / TT @ 1 T 11 3TER1 Bl &
RESPONSE B - CORRECT Answer Key : B
Q18 A man rows downstream at 20 km/hr and rows upstream at 15 km/hr. At what speed he can row in still
water?
T A YR & D d 20 ffl/ber 1 71fa @ 71a gama 8 3R uR1 & uided 15 fedfaa e d
1| ardl 8. TR art H g o 7if @ 1a 9o gl &2
A ;
20.5 km/hr / 20.5 fabHi/ger
B

22 km/hr / 22 feedider




17.5 km/hr / 17.5 faefi/der
D i
18 km/hr / 18 farHi/eier
RESPONSE C - CORRECT Answer Key : C
Q19 A man can do a piece of work in 5 days, but with the help of his son, he can do it in 3 days. In what time
can the son do it alone ?
& e T HH B 5 A H = Fha1 8, A oo 2 Pl e ¥, s ¥ 3 A F s wpar 81
0 a8 ) mg T R b 87
A 6 and 1!2daysfﬁ|%%m
B 8days/8 fea
c 7 days/7 feq
D 7 and 1/2 days / 91¢ 91d {9
RESPONSE D - CORRECT Answer Key : D
Q20 On a certain sum of money, the compound interest of Rs. 318 is earned in 2 years. If the rate of interest
is 12%, what is the principal amount?
T A SFRIRT OR 318 YA 1 Thdie SIS 2 U1 H 31fSfd fobar oran 8. afe el Fl @R 12% 7,
T R T 82
A
Rs. 1200 / 1200 ¥UY
B
Rs. 1250/ 1250 ¥UY
C

Rs.1300 / 1300 ¥UY




D Rs. 1150 / 1150 ¥U8
RESPONSE B - CORRECT Answer Key : B
Q21 A train, 500 metre long, running at a uniform speed, passes a station in 35 seconds. If the length of the
platform is 221 metre, the speed of the train in km/hris ?
500 HteR Tl U Y@TTS! UHEHT T | Ted §U T WA $1 35 e T UR Sl 7| afe wewrd
P daTs 221 WeX §, d & 91 iy fpedtmer 7 82
A 74.16 / 74.16
B 78.54 [ 78.54
c 72 and 1/35 / 72 3R 1/35
D 24.76 [ 24.76
RESPONSE A - CORRECT Answer Key : A
Q22 Including stoppages the speed of a bus is 70 km/hr and excluding stoppages its speed is 75 km/hr. For
how long the bus stops in an hour?
Sl Bl AR U 9 #1770 fre/AeT 8 9IR 35va 3 SleaR sue! TR 75 frl/der . 9w
U e B et 3 e Tt 2
A 6 minutes / 6 T
B
3 minutes / 3 fBFE
c 4 minutes /.4 e
D 7 minutes / 7 ffFe
RESPONSE C - CORRECT Answer Key : C




Q23 A shopkeeper sold an article at 20% discount and earned a profit of 4%. By what percent the marked
price of the article more than the cost price?
TP GPIGR U ] Bl 20% TT R 1 § IR 4% FT T Sofa Har 8. sifded i fvem wioma 9
T P B AT Y F 340 82
A 03/03
B 0.45/0.45
C
0.4/0.4
D 0.5/0.5
RESPONSE A - CORRECT Answer Key : A
Q 24 Four years ago, the average age ot A and B was 20 years. It today average age ot A, B and C is 25 years,
what will be age of C after 7 years?
IR af g, A 3X B P ofrad 3mg 20 I ot | T oot A, B SR c Y ST aMg 25 A R, A7 A B
912 ¢ 1 IF FI8?
A 32 years /32 Y
B
38 years /38 EL
c 36 years / 36 ad
D 34 years / 34 i
RESPONSE D - CORRECT Answer Key : D
Q25 Find the angle of elevation of the sun when the length of the shadow of a pole is equal to the height of
the pole.
9 U G & B P Tas TN P a18 & SRR 8id! 8, 9 Jd ST 3T S0 F1d Bierd |
A 45°  45°




30° / 30°
c 90° f 50°
D
60" / 60°
RESPONSE A - CORRECT Answer Key : A
Q 26 Choose the One Word Substitution for : Arrangement of events or dates in the order in which they
happen
A Archaeology
B Chronology
C Ecology
D
Geology
RESPONSE B - CORRECT Answer Key : B
Q27 The mechanic repaired my bike .The other form of voice is-—---- ?
A - , ,
The bike is repaired by my mechanic.
B My bike has been repaired by the mechanic.
C My bike was repaired by the mechanic.
D . . : .
The bike was being repaired by my mechanic.
RESPONSE C - CORRECT

Answer Key : C




Q28 Select the correctly spelt word
A Permmited
B punctuation
C pungant
D plesent
RESPONSE B - CORRECT Answer Key : B
Q29 Choose the correct meaning of the idiom : completely at sea
A Confused
B In shock
C Committed
D Sure
RESPONSE A - CORRECT Answer Key : A
Q30 Choose the correct Synonym for Offend
A Assist
B Assuage
c Aid
D Annoy
RESPONSE D - CORRECT Answer Key : D
Q31 Choose the One Word Substitution for : One who pretends to be what he is not




A Creator
B Director
C Hypocrite
D Acrobat
RESPONSE C - CORRECT Answer Key : C
Q32 Choose the phrasal verb that means "To be ready for action"
A Stand along
B Bring about
C Stand by
D Stand up to
RESPONSE D - WRONG Answer Key : C
Q33 Spot the error in following sentence : None of them come to the inauguration of our new factory
A inauguration of
B
our new factory
C
come to the
D

None of them




RESPONSE C - CORRECT Answer Key : C
Q34 Select the correctly spelt word
A compitition
B contruction
C distruction
D repetition
RESPONSE C - WRONG Answer Key : D
Q35 The police used tear gas to the crowd .
A disburse
B attack
C disperse
D
collect
RESPONSE C - CORRECT Answer Key : C
In the sentence, "The team celebrated ----- victory with a parade," what pronoun should fill the blank?
Q36 h "Th lebrated h de," wh hould fill the blank?
A Them
B It
C Its
D Their
RESPONSE B - WRONG Answer Key : C
Q37

Choose the correct meaning of the idiom : In the same boat

In disgrace




B In the same situation
o In a superior position
D At the centre of attention
RESPONSE B - CORRECT Answer Key : B
Q38 Select the correctly spelt word
A Devlop
B Diffrence
C Discribe
D Disappear
RESPONSE C - WRONG Answer Key : D
Q39 Around one hundred across the world participated in the conference .
A clever
B delegates
C intelligent
D talents
RESPONSE D - WRONG Answer Key : B
Q 40 Choose the correct Antonym for : Adamant
A Stubborn
B Stupid
C
Flexible
D Coherent
RESPONSE C - CORRECT Answer Key : C




Q41 Choose the One Word Substitution for : A short statement of a general truth or rule of conduct
A ;
instance
B parable
C illustration
D ,
maxim
RESPONSE B - WRONG Answer Key : D
Q42 Select the synonym for "ameliorate.”
A Aggressive
B Improve
C
Worsen
D Deteriorate
RESPONSE B - CORRECT Answer Key : B
Q43 What adjective describes someoneanhois quick to understand and respond to new ideas or situations?
A Garrulous
B Obtuse
C Malleable
D Perceptive
RESPONSE D - CORRECT Answer Key : D
Q 44 Spot the error in following sentence : A new research study has shown that long before they took up a
strict vegetarian diet, the much loved pandas was a meat-eater




has shown
B took up
C was a meat-eater
b that long before
RESPONSE C - CORRECT Answer Key : C
Q45
Spot the error in following sentence : Everything has became very expensive these days
A
no error
B very expensive
C these days
D Everything has became
RESPONSE A - WRONG Answer Key : D
Q 46 Choose the correct Synonym for Inclination
A Repulsion
B Indifference
C Tendency
D Aversion
RESPONSE B - WRONG Answer Key : C




Q47 The song of birds is one of the loveliest sounds in nature. Sometimes when we are out in the country
and we hear birds singing, it seems to us they are calling back and forth, that they are telling one
another something. The fact is that birds do communicate with one another, just as many other animals
do. Of course, at times the sounds birds make are more expressions of joy, just as we may make cries
of’Oh!" and ‘Ah!". But for the most part, the sounds that birds make are attempts at communication. A
mother hen makes sounds that warns her children of danger and causes them to crouch down
motionless. Then she gives another call which collects them together. When wild birds migrate at night,
they cry out. These cries may keep the birds together and help lost ones return to the flock. But the
language of birds is different from language as we use it. We use words to express ideas and these
words have to be learned. Birds don’t learn their language. It is an inborn instinct with them. In one
experiment, for example, chicks were kept-away, from cocks and hens so they would not hear the
sounds they made. Yet when they grew up they were able to make those sounds just like the chicks that
had grown up with cocks and hens! This does not mean that birds can’t learn how to sing. In fact some
birds can learn the songs of other birds. This is how the Mocking bird gets its name. Read carefully ,the
above passage and answer the following question: Birds need not learn their language as..........

A it is only a quality with human
B it is developed with extra intelligence
C it is tough to learn
D it is an inborn instinct with them
RESPONSE D - CORRECT Answer Key : D
Q48 Choose the correct meaning of the idiom : Pie in the sky
A Something very small
B Something not possible
C Difficult to find
D An easy situation
RESPONSE C - WRONG Answer Key : B
Q49 Choose the correct Antonym for : Adversity

A

misfortune




B calamity
c prosperity
D
casualty
RESPONSE B - WRONG Answer Key : C
Q50 There should be punishments for rule breakers .
A much
B many
c severe
D too
RESPONSE A - WRONG Answer Key : C
Q51 Arrange the words given below in a meaningful sequence. 1. Key 2. Door 3. Lock 4. Room 5. Switch on
T T e rest 1 U Ol Sh § SafRyd 3| 1. ol 2. GIATON 3. Tell 4, FH 5. F&ad 3
E
A 1,3,2,45/1,3,2,4,5
B 4,2,1,5,3/4,2,1,5,3
C
5,1,2,4,3/5/1,2,4,3
D 1,2,3,54/1,2,3,5,4
RESPONSE A - CORRECT Answer Key : A




Q52
Select a figure from amongst the Answer Figures which will continue the same series as
established by the five Problem Figures.
Problem Figures: Answer Figures:
w |50 | & sl 9 M S
Ay (B) (€) (D) (B) (1 (2 3 4 (8
(a) 1
(b) 2
(c) 3
(d) 4
IR B H 4 U AT & 997 B ol Uid ST Hibiadl gR1 wfdd I8 ya@ar & & Wi
HE o RCACE®
< ENERE
A B € O B @O @ G @ O
(a 1
(b) 2
(c) 3
(d) 4
A
b/b
B cfc
C d/d
D
afa
RESPONSE D - CORRECT Answer Key : D
Q53
CMM, EOOD, GQQ, , KUuU
CMM, EQQ, GQQ, , KUU
A
GRR / GRR
B
ITT/ImT
C
1SS /1S5
D
GSS / GSS
RESPONSE C - CORRECT Answer Key : C




Q54

The act of choosing between two or more courses of action.

FHRATS & 1 UT TS TISTHHI & S TG B BT HH |

A Decision making / FYofa &
B Empathy / THIFY{A

C Critical thinkfngz’ﬂ?ﬁ"{ﬂfmﬂ
D

Self-awareness / HIH S R=dhdl

RESPONSE A - CORRECT Answer Key : A
Q55

Which group of shapes can be assembled to make the shape shown?

V4
@ Y =+

BN U IR & &1 b feru srafadi & [ awg &) gadg s on adar g2

P O R » AR

V4
PGS

A B C D
fa) A
(b). B
(c) T
(d) D
A
c/c
B
afa
C

b/b




d/d
RESPONSE A - CORRECT Answer Key : A
Q 56
If P+ Q means P is the brother of Q; P x O means P is the father of Q and P - Q means P is the sister of Q,
which of the following relations shows that | is the niece of K?
g pradraiafde QB HE R Pxa®I e fF e, aoTfiarg sike-a@r 3 2 p, &t
Te g, Fu A Qo wrdey gRifar e &, k &1 whish 82
A Z-1XY+K/Z-1xY+K
B K+Yxl1-Z/K+Yxl-2
¢ KxY+1-Z/KxY+1-Z
D KeY+Z-1/K+Y+2Z-1
RESPONSE B - CORRECT Answer Key : B
57
Q M%URAAT#)@7DS5OIFN1IES36WU2HS8*K9B Q. How many such numbers are there in the
above arrangement, each of which is immediately preceded by a consonant and immediately followed
by a vowel?
M%RAAT#I@7D50IFN1ES36W U2H8 * K9 B Q. SURIGT oaawyl | U faraT gt &,
578 I vd® & 31 Uge U oo 3R 3ih Ugel U oo g Udh W & d1G?
A ;
Nnne}a’ﬁ_ﬁ;ﬁ
B
One /U
c Three;’?ﬂ?
D
Twol?ff
RESPONSE D - CORRECT Answer Key : D




Q58

The following question, consist of two words each that have a certain relationship to each other,
followed by four lettered pairs of words. Select the lettered pair that has the same relationship as the

original pair of words: Signal : Traffic

ot wy & <) wea 2ftrer & R & ude &1 U oot § ue Fila ddy B, 59 o1¢ Weal  aR
31&R SIS & | 316 el U ST 1 70 P T Ua Wegl 31 g wiet & 99 8: R - Sfthp

A
Operation : Doctor / SHoEH: Siaex
B
Lens : Light / Ti: TpTN
C
Dam : River / & 71
D
Door : House / @Xdldl: 9
RESPONSE C - CORRECT Answer Key : C
Q59 By considering the rule Client(, age( > 70 ? discount(, the element that act as placeholders for the values
Aand Bis called
e e (, 3G (> 70 2 Fe() TR TR &b, 98 & O 7 A 3R B & o0 TOeiee & 0 & &
H1 8, I 1 HgI ANl 82
A function svmbolsjmu?ﬂﬁ
B variables / ¥
C 1
constants / FRRT®
D predicates / f489
RESPONSE B - CORRECT Answer Key : B
Q 60
In a certain code language, 'PENCIL’ is written as '1771771418" and 'ERASER' is written as '6204231024",
How will 'SHARPNER' be written in that language?
e ARy e U H, 'PENCIL BT 1771771418 oRaT SITT € 3R 'ERASER' B '6204231024" fer@T aira
139 WIS T 'SHARPNER' @1 b forar wmae
A

201042221201223 / 201042221201223




B
201042221201226 / 201042221201226
C
201042221201227 / 201042221201227
D
201042221201224 / 201042221201224
RESPONSE B - CORRECT Answer Key : B
Q61 Directions : In each of the following questions a statement is given, followed by two conclusions. Give
answer : Statements : Company X has marketed the product. Go ahead; purchase it if price and quality
are your considerations. Conclusions : |. The product must be good in quality. II. The price of the product
must be reasonable.
e Fofafad 7 9 ude vy & U FyH fom ST 8, 39 a5 &) s 2id ¢ | S/aTe & « faavur:
U Ua A IaTE 1 fAuur farar 81 ol ael; afe He ofiR Turaar e faER & o 39wl
frep. | IeTE TUraT H 331 ST AR i SIS B! HiHd Ifad Bl FiRu
A Both I and Il follow / | 3T EF” FIUTAT HY
B Either | or Il follows / T <1 i T i S{ER01 Bl &
C Only conclusion | follows / Pad [5hY | &ITFRUTWTE
D Only conclusion Il follows / A B ii T HTE BT §
RESPONSE A - CORRECT Answer Key : A
Q62 According to the social identity theory, which one of our many social identities we adopt depends on:
T gEaT Riaid & SaR, S §HR) &% STierd Ugarl &1 81 U §, TR MR war &
A situational factors / TS & H&ftd dR®
B an individual’s mood / U Safad @1 HIGN
c social influences fmﬁﬁm
D the context / partd
RESPONSE B - WRONG Answer Key : D




Q63

Which one set of letters when sequentially placed at the gaps in the given letter series shall complete

it 7aab_aa_ bbb _aaa_ bbba

23U TT0 Uz el T BRI TR ite U § T & W &R &1 B 91 Je 34 W SN2

aab _aa_bbb_aaa_bbba

A abab / abab
B
aaab / aaab
C
baab / baab
D
abba / abba
RESPONSE C - CORRECT Answer Key : C
Q 64 | was facing East from where | turned to my left and walked 12 ft, then | turned towards right and

walked 6 ft, After that | walked 6 ft in South direction and at last | walked 6 ft in the West. Then, in

which direction am | standing from the original point?

Hod it ok &1 TH B 36T o, et § H e ars 3R ST 3R 12 Wie gen i, R H ars iR §s
T 3R 6 IE Tl T, IHSP a5 B S0 fE3n o 6 Wie Sa i 3R 31f@ReR T ufdm # ¢ Wie Iar
a1 i, & forw o & ga fig S w@sT g2

A East / q‘a‘

B North / 3T

c West / afEm

D South / GI&0T

RESPONSE C - WRONG Answer Key : B
65
Q If "A" means "plus", "B" means "divide", "C" means "multiply" and "D" means "minus", then 162 B 27 C

S5ABD357
afe A @1 3 g, ' B g AU, e w1 31 g U 3R v T 3 ¢ rHTgTa, dl 162 8
27 C5A 8D 357

A 3/3

B 22

C 0/0

D 171




RESPONSE A - CORRECT Answer Key : A
Q 66
This department........... in Chemistry.
EECEINESSI S ACEIE R S—
A
specialist ;’ﬁﬁ'ﬁﬁl
B
specializes / ARG
C
none of these ,’Eﬁ'ﬁﬁaﬁ%ﬂﬁ
D
Specialize / far
RESPONSE A - WRONG Answer Key : D
67
Q Directions - From the given alternatives select the word which cannot be formed using the letters of the
given word. TRANSPORT
w1 - ey e fasr el 9 39 Weg &1 909 B3 off faU 71U Xsg & S&R1 1 JUTI B Ta| o= S
FHaT €| TRANSPORT
A
More than one of the above / More than one of the above
B
SPORT / SPORT
C
STRAP / STRAP
D
TRUST / TRUST
RESPONSE D - CORRECT Answer Key : D
Q 68
Statements : Some ants are parrots. All the parrots are apples. Conclusions : |. All the apples are parrots.
Il. Some ants are apples.
Y $S difediad ol Gt d1d J9 81 s | A Y9 a8 1 1. 5w Hfear Fa St &
A
Neither (1) nor (1) follows / T T (i) 3R A &1 (ii) T SFTT0T
B Either (1) or (1) follows / T T (i) 9T (ji) T STHIT
¢ Only (I1) conclusion follows / &aT (ji) el o7 SreRT




Only (1) conclusion follows JHad (i) fend &1 SERTT

RESPONSE C - CORRECT Answer Key : C
Q69
In a certain code, PLEADING is written as FMHCQMFB How is SHOULDER written in that code?
% fAfid e o, PAGENCY T FMHCQMFB foraT STTaT 8, 39 e UTeT T SHOULDER 1 & ferar
ST
A
QDCKTIPY / QDCKTIPY
B
TIPVQDCK / TIPVQDCK
C
QDCKVPIT / QDCKVPIT
D
KCDQTIPY / KCDQTIPY
RESPONSE B - WRONG Answer Key : A
Q70 If Meena and Reena also exchange their positions between themselves, then after the exchange,
Meena’s position from the left will be
gfe w3 F oft s F ot FRuf 1 aite e &va €, @t fafma & e, s @ st wie
1B
A 7/7
B 5/5
C 8/8
D 6/6
RESPONSE B - WRONG Answer Key : D
Q71
Miss Prachiis.a B.Tech with 5 years' experience working in the automobile industry. She is looking
forward to an opportunity to work with PRQ Bank. You need to take decision whether:
for urelt ot 2 € 9k G GifciHiaTS  SeiT & BTH &% &1 5 U1d &1 3Hd 81 98 THeiRa] § &
1Y P A & TR D1 Y& B2 ] g1 3MI! ol o &t s ¢ & &
A

The candidate is to be selected. !Gﬂﬂaﬁﬁaﬁﬁw%i




The candidate is to be rejected. / IFIIGAR P WIS B AT AT |

C
The candidate is to be referred to the selection panel. ;’m & 9= U H ﬂﬁﬂ'\_ﬁﬁT%l
D
The candidate is to be referred to the managing director. /mﬁuﬁiﬂ RIS o U WS ST
gl
RESPONSE D - WRONG Answer Key : B
Q72
If GATE is coded as QKDO, then PLAN will be coded as -
& GATE HT QDO F FU H HIS 51 ST 8, T PLAN B! 38 TR HISd fopar STTMI-
A
FVKX / FVKX
B
ZVXK [/ ZVXK
C
VEXK / VFXK
D
ZVKX [ ZVKX
RESPONSE D - CORRECT Answer Key : D
Q73 Sentence Completion: The teacher’s teaching style made the subject easy to understand.
aTeRT X1 BT FR1efes a1 1o Sreft 3 v &1 wwgET s = fen
A Distracting / &< HIT
B Engaging / BTG
C Confusing / {TH®
D Boring / Jdl\%
RESPONSE B - CORRECT

Answer Key : B




Q74

To measure the relative change in purchasing a specific basket of goods and services between two

periods of a certain locality with a group of people with fixed incomes, which of the below can be used :

fafir s aret @il & wHE & T Ues A sard @t e sraftaf & g aegeft SiR Jareff &1 ve
fafy et wdic & we uRad= i Ao & o, Fafifad # 3 e suai fdbar o dedi &:

A
Cost of living index / STTdd Yadid ATd

B Pasche’s price index / U &1 e YabidH

C Both (Consumer price index) and (Cost of living index) !ﬁ mm'ﬂ?ﬂm Ga?[ﬁﬁﬁﬁ'
YADT TRT)

D o ;
Consumer price index IWWW

RESPONSE C - CORRECT Answer Key : C
Q75 Establishing a Power of Attorney occurs when a legal document is created that gives one individual the

authority to act for another. Which situation below is the best example of Establishing a Power of
Attorney?
JhIE B UGS & TTTT T BTt & TF T B Gl ST STl § ot U oo b1 gu & forg
BT B BT ARIBR a1 | 1 317 ) FRufy are ot ifdr wnfira ! 71 U o Iamerur &2

A Louise is selling her house and she hires a lawyer to review the contract. fq&r'ﬂ a{wméﬂm%\ﬁw
ag ey B GHel HI & 7T Ue I ie Bl ST IR ¥Edl g

B Simone’s mother can no longer get to the bank to cash her checks and make deposits, so she has taken
legal steps to enable Simaone to de these things for her. f%ﬁ\?ﬁm 3 U7 TP BT HY B 3R
OHI B & o0 sich H 78T oIl Webcll &, $UITT g1+ [HI I 30 e g il 1 et H HeH
T % g ST eH ST E |

c At her daughter's.urging, Mrs.Lenox opens up a retirement account with the local bank. / Ao St &
318 U, 4TAd} dieied =g 5 & 91y us Jar-gi @ @iadl 81

D Jack’s father is elderly and Jack thinks he is no longer able to make decisions for himself. / o & fiar
Tl € R O 1 T & b a8 e 370 forg Fof o & wem =gt €1

RESPONSE D - WRONG Answer Key : B
Q76 Who is the Flying Sikh of India?

YR & TSt R i &7




Milkha Singh / firea Rig

B
Mohinder Singh / Fi| %azﬁifa'
C Joginder Singh / SIRTeR g
D ; :
Ajit Pal Singh / 3reftd aTer Rigadin
RESPONSE A - CORRECT Answer Key : A
Q77
Public Administration is the study of
W TR fEehT 37609 87
A
Politico-administrative dynamics of the state / {[vd P AT -U=EE Tiagfiaan
B
Maintenance of Law and Order / @I 3R TG H1 T@@T
C .
Control of trade and commerce / SHTUIY sh?aﬁmﬁ'q'm
D
Public Policy implementation / e Hifd srfaaT
RESPONSE B - WRONG N Answer Key : D
Q78 Who composed “Jana Gana Mana’?
"SI 70 T @t T fe @t
A Aurobindo Ghosh / SRiﬁE?fEﬂﬁ
B Sarojini Naidu ;"ﬂﬂfa‘lﬂ Iag
C

Rabindra Nath Tagore IW TR




D Bankim Chandra Chatterjee /aﬁﬂ?a—s{ﬂfﬁﬁ-
RESPONSE C - CORRECT Answer Key : C
Q79
Labour Intensive Technique would get chosen in a—
$H T dbriich P! AT ATET-
A
Labour Surplus Economy / % U<y arfaaeit
B Developing Economvfﬁmmﬂaﬁ{m@ﬂ
Cc Developed Economy / faefa Srefera
D Capital Surplus Economy / ‘iﬁﬁ oA spfeqaen
RESPONSE B - WRONG Answer Key : A
Q80
Water is a highly effective coolant for a car engine because
R P So & fore ur v srafires uHE 2fidees 8, i
A Water boils at a comparatively high temperature ,’Hl'rﬁ qeTHS U Y 3= IUAT R Il %1
B Water is good conductor of heatiﬁﬁﬁﬂ@m%
¢ Water has very high specific heat capacity / Ut H ggd it fAfRy e &oaT gl §
D Evaporation of water produces lot of cooling / ﬁﬁmﬁﬁﬁmﬁﬂm%
RESPONSE B - WRONG Answer Key : C
Q81 Which state has signed CSIR and DRDO as knowledge partners for the proposed Bulk Drugs Park?
forg o A wRafad so 37 Urdh o forg WewsmSaR 3R SemREish & g 39 urfier & wu d
g frar g2
A
Tamil Nadu / AfHTTg




Assam [/ STH
C
Uttar Pradesh / \3TX exT
D
QOdisha / 34 f&ar
RESPONSE C - CORRECT Answer Key : C
Q82 Which Indian Prime Minister's 127th birth anniversary was celebrated in Nov 20167
TR 2016 T g WG WyT w2 B 1278 SRicd) 7S TS
A Narasimha Rao / :Rﬁn%ma
B
Jawaharlal Nehru / WdlgY ¢ilcl 3}623
C " :
Morarji Desai ,’m ém§
D
Lal Bahadur Shastri ,’WWW
RESPONSE C - WRONG Answer Key : B
Q83 National Rural Health mission was launched in:
BT iU TR A Y i T
A October 2005 / H{dgER 2005
B
July 2005/ S@TS 2005
c April 2005 / 3 2005
D August 2005 / 3T 2005
RESPONSE B - WRONG Answer Key : C




Q84

Which charter is an attempt to bring accountability and transparency in EPFO functioning?

EPFO & IS H STaTacal 3R URETRId o & o SI J1 91e U WAy 87

A Pension Fund Charter 2017 / U 158 91éR 2017

B None ofthesefﬁ?ﬁﬁﬁﬂﬂqﬁ

C EPFO Charter 2017 / EPFO | é? 2017

D Citizens Charter 2017 / FTTTIN@ TTCR 2017

RESPONSE A - WRONG ~ Answer Key : D
Q85 Which one is a India's permanent research station in Antarctica
3ferdhiea H HRd &1 Rl Uy W &4 91 g2
A Agni / 310
B ;
Ganga /T
C None ofthesef%?ﬁﬁﬁ'g?ﬁ%pf
D Maitri ,:"-a’;ﬁ
RESPONSE D - CORRECT Answer Key : D
Q86 Which one of the below is not a novel written by R.K. Narayan
T B Y B9 R, &. AR GRT R T SR 8 R,
A The Bachelor of arts /. & SHTR 3iTH AT
B Swami and friends/mﬁgm
c The English teacher / € ST &eR
D , 23
Such a long journey / T& T @11 ST
RESPONSE D - CORRECT

Answer Key : D




Q87

Tadoba national park known for sheltering tiger, panther and bear is located in

a1, Jg 3 IR I &1 e 3 & o wfr: areian Wty Se wel A @2

A Tamil Nadu !T‘lﬁ?ﬂﬁg‘
B
Assam / 3HH
c Chandrapur (Maharashtra) /W{IIERTE]
D Karnataka ,’Tm'_"lll-E_tﬁ
RESPONSE C - CORRECT Answer Key : C
Q88 Who was the 1st recipient of Rajiv Gandhi Khel Ratna Award?
rofta it W I RIPR & TS Wil 1 42
A Aparna Ghosh / HTUT €9
B .
Viswanathan Anand / fa9=TY= 3fHg
c Yogeshwar Dutt / qsR &
D
Sachin Tendulkar / Tfea ﬁgafb_(
RESPONSE B - CORRECT Answer Key : B
Q89 What Syed Mohammed Arif famous for?
T dieme e g & fore ufdrs &2
A
As an Indian cricket coach / T URAG fhdhe sl & EUH
B As an Indian football coach / T8 WA Geale &1 & w0
C

As an Indian badminton coach / T HRAIT JsflicAi PP EUH




As an Indian tennis coach ;Wuﬁ—qﬂn%ﬁ"ﬂﬁa$wﬁ

RESPONSE A - WRONG Answer Key : C
Q90 21st June 2017 was celebrated as the ____ IDY.
2152017 B ___ SfRIPT 11 gy & FU & 91 141 o7 |
A None of these / 37H H iz Hi A8l
B .
third / TR
c second / G0
D first / Tl
RESPONSE B - CORRECT Answer Key : B
Q91 Who recently M.S. Swaminathan Award in the year 20237
TeT 2023 H, TH.TH. WHATYA REBR F DI T gU2
A o
Dr William D Dar / 31 fafed € R
B
Prof Rattan Lal / 910 IdT9 @1
C A
Dr PV Satyanarayana / SI qt . & g
D T
Dr John Dixon ;’ST\_IITH%EHT'I
RESPONSE C - CORRECT Answer Key : C
Q92 Sun’s rays can make right angle only up to 23(1/2) and South latitudes because
T B 01 ad 23(1/2) SR Efel e o & FHwH v EA UK € Fiife
A

Revolution / wHifd




Earth is inclined at an angle of 66(1/2) on its axis / qta"rarcr?r HHWEE{le}%EﬁWW@HﬂE’é%

Rotation / ddehi
D
Shape of Earth / G2l &7 3R
RESPONSE B - CORRECT Answer Key : B
Q93 Who headed the first scientific group to leave for Antarctica in 19827
1982 § 3ferdh et & fory 3am1 819 ara uget deifie THE &1 g fora fpar
A L3
Dr. S.Z. Kasim / 1. GO, HIRH
B
Dr. H.K. Gupta / B1. U9, Tl
C
Dr. R. Sengupta /8L 3R, a_"!":[‘-?ﬂ
D "
Dr. V.K. Raina / 1. d1.3. 3T
RESPONSE C - WRONG Answer Key : A
Q94 At point of satiety, marginal utility is:
ey & fig W, i Suhifie 2:
A Maximum / 3 dd
B zero | LA
C .
Negative / THRIHEP
D
Positive / HhRIHE
RESPONSE B - CORRECT Answer Key : B




Q95 Who is the first space tourist
U Sfafel whied F 82
A
Dennis Tito / &9 fect
B Richard Garriot / tﬁgﬂﬁ&ﬂf
c Jake Garn ;’W"Tﬁ
D
MNone of these fﬁﬁ'ﬁﬁﬁ oft 78t
RESPONSE B - WRONG ] Answer Key : A
Q96 The Cabinet Committee on Economic Affairs (CCEA) has approved expansion of which Yojana for a pan
India coverage from 2017-18 to 2019-207?
31f¥fe ATl UR Bfere MM (ccea) 3 2017-18 § 2019-20 T U ST Haval & for fpu oo &
R B A € 8
A Pradhan Mantri Bima Yojana fumﬁaﬂﬁmdﬁm
B Beti Bachao Beti Padhao Yojana ;éfra?nah ﬁé’ruaahu"m?
c Beti Bachao Yojana iaﬁﬁaﬁm
b Pradhan Mantri Gram Sadak Bijli Yojana ;mmmwm
RESPONSE A - WRONG & Answer Key : B
Q97 : » ' y
Leela Samson is associated to which classical dance style?
e e frg Iy J SR AR T2
A
Bharatanatyam / HXaHTIcaH gl
B
Kathakali / YeTel
C N
Kuchipudi ,’W
D Odissi / Sfifet




RESPONSE A - CORRECT Answer Key : A
Q98 Pahal scheme is related with?
Ted T fhed Jefia 72
A Direct Transfer of LPG Subsidy / TerdToft Ofstre} &1 e geierur
B
Women Education ,-‘ﬂ'%'ﬁ'f e
C
Agriculture Loan / S8 30T
D
Child Education / STd fRreqm
RESPONSE A - CORRECT Answer Key : A
Q99 Sri Aurobindo Ghosh was born in the year :
st aRfSE) Oy &1 o fob aef o ganmume
A 1892/ 1892
B
1982 /1982
c 1872 /1872
D 1884/ 1884
RESPONSE D - WRONG Answer Key : C
Q 100 Dollu Kunitha is a folk dance from
Temghate de Jas
A
Karnataka jm
B Kerala IW
C Bihar / B8R




Tamil Nadu fﬂﬁ?ﬁ'@

RESPONSE

A - CORRECT

Answer Key : A






